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WORD ANALOGY -A
Q1. Choose the option that expresses the same relationship as the following.
Rabbit : Animal ::?:?
(a) Sun : Moon (b) Pentagon : Figure (c) Lion : Bird (d) Animal : Cow

Q2. Choose the option that expresses the same relationship as the following.
Tobacco : Cancer

a) Bud : Flower (b) Soil : Erosion (c) Mosquito : Malaria (d) Milk : Food
Q3.'Cow' is to a 'Calf' as 'Goat' is to

(a) Colt (b) Lamb (c) Kid (d) Puppy

Q4. Teacher' is related to 'School’, in the same way as 'Waiter' is related to
(a) Client (b) Restaurant (c) Magistrate (d) Criminal

Q5. Sitar : Guitar : : Tanpura: ?

(a) Trumpet (b) Mridanga (c) Harmonium  (d) Violin

Q6. Newspaper : Editor ::Film : ?

(a) Actor (b) Producer (c) Director (d) StoryWriter
Q7. Konkani : Goa :: Dogri : ?
(a) Madhya Pradesh (b)Orissa (c) Jammu Kashmir (d)Gujarat
Q8. If flow is related to the river then stagnant is related to ?

(a) Pool (b) Rain (c) Stream (d) Canal
Q9. Beautician : Parlour :: Lawyer : ?

(a) Garage (b) Court (c) Bar (d) Office
Q10. Sikkim : Gangtok :: Tamil Nadu : ?

(a) Kolkata (b) Panaji (c) Chennai (d) Patna
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ANSWERS:
1 3 4 5 6 7 10
b b d c c c
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